IB Math HL 1: Curve Analysis
NO CALCULATOR

. e first Derivative test ﬁnd intervals of increasing and decreasing

For the given functions,

Name: /eC’ of
Jd

1) Find the intervals where the function is increasing and decreasing.
2) Determine the local max and/or the local min of the critical numbers/(stationary points)\by a sign diagram.
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IB Math 2 Inflection point and the intervals of concavity Name

For the given function
—
1) Find the x-coordinate where f (x)=0: The point is calledQnﬂectlon point at which concavity changes.
2) Find the interval where the curve is concave up and the curve is concave down. The curve is concave up If't
(x) >’Q/and the curve is concave down if [f (x)< 0™y
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